oS = 42 —4x - 12

@ x+2=0E=x-6=0

O x-2=0F=x+6=0

@ x+3=0FE=x-4=0

@ x-2=0EEx-6=0

B x+3=0EE%x+4=0
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(x+y)(x+y-6)—16 =02 o, x+y o] gH52]
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o 7 B 8 @ 9 ® 10

D 6



3. The oAl % o) ATt b Sher

® x2+12x+36=0 @ x2=10x-25
® 9-x?=4(x+3) @ (x+1)(x-1)=2x-2

B 2 =4x-14



O|ZFFAA kx2 +4x+1 = 0 ©] A2 TF= T
Hol=?

@ k>4 @ k<4 ® k>4

@ k<4 G —4<k<4
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7.  7t2, Q29 Zol9] H7} 3 : 2 o)1 Yol7t 150em? Q1 AL o]
T} o] W, 7}2 o] ZolE?

@D 15cm @ 18cm ® 12cm @ 10cm 3 16cm



@ 2x2+1=(2x-1)(x+3)
@ (x-1)(x+1)=(x+1)?
® -3(x>+x)=2x-3x2+1
@ +1=(x-1)(2-x)

® x(x*-5)=(x+1)(x+2)



H7hx=2F=x=-3Ld ™, a+b

A x?+ax+b=09
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Alax? +bx+3 =

1484
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@ 1 B 2

3 0



ol7p

@D 13

AA x4 2ax+b-1=0° |7t 3L W], b—a ] 3

® 12

3 10

@ 11

3B 0
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13. oJZIAA (x+4)2 =b 7t AR TF2 T Q9] 28 7HE 271429

@ a<0 @ a>0 ® b<0

@ b>0 ® ab>0
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15. WO =ZRE 50m HE FololA dA2d EX49 r = T
2t g off, ¢ & h AFololl= h = =512 + 15t + 50 91 A7}
o] EAl= 2 % Fof ol Eojx]=71?



